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Can	you	work	out	the	numbers	that	need	to	go	into	the	squares	so	that	when	you	multiply	the	rows	
and	columns	you	get	the	products	shown?		You	can	only	use	the	numbers	1-9	and	you	can	only	use	
the	numbers	once.		The	numbers	in	red	show	the	difference	between	the	sums	of	the	products	in	
the	third	row	and	the	third	column.		Can	you	make	another	grid	that	has	a	difference	of	1?	What	is	
the	biggest	difference	you	can	make?		Is	it	possible	for	there	to	be	a	difference	of	zero?		If	not	can	
you	explain	why	not?	
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